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-3.411

0.462
—-6.597

3.984
—2.238
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—-8.433
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-9.133
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—7.489

8.218
—-3.811

8.763
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0.539
-3.418
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6.731
—-4.202
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3.25
—-8.607

3.16
—-2.447

1.899
—-3.974

7.465
—-5.426

0.601
-9.416

9.414
—-3.367

9.957
—-9.755

6.567
—-4.283

7.164
—6.32

4.595
-9.181
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—3.945
5.75
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—8.328
—-3.284

1.011
—8.258
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7.148
—7.489
—0.341

8.218
—3.811
4.407

8.763
—-8.51
0.253

0.539
-3.418
-2.879

0.656
—9.366
-8.71

6.731
-4.202
2.529
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1.899

—-2.075

7.465
—5.426
2.039

0.601
-9.416
-8.815

9.414
—3.367
6.047

9.957
—-9.755
0.202

6.567
—4.283
2.284

7.164
—6.32
0.844

4.595
—9.181
—-4.586
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